17/16:34) Al A3 = l-al ) (g (el e 4y oG 17/02/19 gl
L] 3l a1} 3ala (48 BN AL oY) (2 i) 3ozl 1 sl
sl g el i 'masay ol AL L g8 4 >
—2x = 0 Al Ja 98 2 amdl 1
JO; +oo[ Sl A —3x > 0 daa) hial) Jola ds gana |2
X2 —6x+9 8 (-x+)? 8 kel S 3
(1)1 +x) 21+ x5kl Jdas 4
40m s sk oY« 15m @ Wish oo Wea e gall « 230m s JS&) Aldiina () dakid |5
.35m & e

S =38 f(x) = 2x + 3 Q813 Ads 2o x 6
3 2 0 23 &l 0l f(x) = —x + 3 OIS 13 a2 x 7
0<x—1<42<x<681 Adase x .8
.1<§<§a&51<x<30l5\3!.gig§am-x .9

Ll By e f(x) = —x + 2 @ R e &l f AW 10

I3l b s @ Ombila Cpase IS Jal (e Al Lalal duabliia £ eils 1Y) ¢ [ Jaal) to A pa o 11
Sf(@)=f(b)Ha<h
g(—5) = 3 i g A Al el (e dkadi M (3 ; —5) .12
J—00;0[ & h(x) = —2x 1 4l b A iy 23 e a2 13
AIG AN A f(x) = 3V + 1 s £ AN 14
A(0; 3) Al Jady asfis ga f(x) = —5x + 3 1 A aall £ ANl ALl Jial 15
Sx) =2x+3 A f(—1) =135 f(0) = 3 :éua £ L8N D 16
AU f(x) = 2 19 R e 4 el A 17
—4x =15 :8 x =3 : 813,18
X = —%Jix =1:0% (x—1)(2x+) = 0 :¢s 13,19
X E]2;4] i x NeY A |x — 3] < 1w x 488 Al 20

dabld ale Cprdiliudy)






